Name:

My Math Homework - Q1:8

Date:

Monday

Tuesday

Wednesday

Thursday

Find the quotient.

0.3 )0.129

Find the quotient.

0.11) 5.973

Find the quotient.

1.5)8.145

Find the quotient.

0.07) 0.623

Find the sum.

112.1+1.2=

Find the sum.

Find the sum.

1.44 + 24.2=

Find the sum.

Find the difference.
15.5 - 7.46=

Find the difference.
35.2-4.42 =

Solve the following.

7.36
X .5

32.923 + 54.2=
Find the difference.

3.52 — 1.426=
Solve the following.
23.5

X 49

Solve the following.

86.4
X .58

432.1 + 5.353=
Find the difference.
345.3 - 5.42=
Solve the following.
.537
x 0.98

Susie has $15.66 to spend on

If she spends an equal amount
on each person. How much
will Susie spend on each of
them?

lunch for herself and her friend.

Joe bought 5.8 pounds of
grapes to have as a snack with
his 10 friends. If he shares his
grapes evenly, how many
pounds of grapes will each of
his friends get?

Monday through Friday Ms.
Carter ran a total of 25.5 miles.
If she ran the same number of
miles all 5 days, how many
miles did she run in one day?

Every weekend Ms. Sunshine
bakes 195 cookies for her
class. If she has 25 students in
her class, how many cookies
will each student receive?

Susie wants to take her friend
out for lunch. She wants to
spend $9.75 per person. How
much will she spend in all?

Joe needs to buy snacks for
the chess club. There are 12
people in the club and he
wants each person to receive
.5 pounds of grapes. How
many pounds of grapes should
he buy?

Ms. Carter runs 7.3 miles a day
for 14 days. How many miles
did she run in all?

Ms. Sunshine is going to bake
cookies for her students. She
wants each student to receive
2.5 cookies. If she has 25
students in her class, how
many cookies does she need
to bake?

Mrs. Rivera ran 2.3 miles and
Ms. Carter ran 5.3 miles. How
many miles did they run total?

Ms. Sunshine had $10.00. She
purchased milk for $2.35 and
apples for $1.95. How much
money does she have left?

Emily has $1.24. Joey has
$5.36. Maria has $2.42. Do
they have enough money to
purchase a CD for $9.00?

Jose walked 5.3 miles to
school. After school, he
walked 4.52 miles to the
library. Finally he walked 2.89
miles home. How far did he
walk in all?

What problem is being
modeled?

What problem is being
modeled?

Model 0.1 x 0.8 =

Model 0.6 x 0.3 =

What problem is being
modeled?

What problem is being
modeled?

Model the following
problem.
1.2+0.3=

Model the following
problem.
1.5+0.3=
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My Work

Monday Tuesday
Wednesday Thursday
My Progress
MONDAY TUESDAY WEDNESDAY THURSDAY
# of questions # of questions # of questions # of questions
# correct # correct # correct # correct

| need more help
with...

| need more help
with...

| need more help
with...

| need more help
with...
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Answer Key - My Math Homework - Q1:8

Monday Tuesday Wednesday Thursday
Find the quotient. Find the quotient. Find the quotient. Find the quotient.
0.43 54.3 5.43 8.9
0.3 )0.129 0.11) 5.973 1.5)8.145 0.07) 0.623
Find the sum. Find the sum. Find the sum. Find the sum.
112.1 +1.2=113.3 32.923 +54.2=87.123 | 1.44 +24.2=25.64 432.1 + 5.353=
437.453

Find the difference.
15.5-7.46=8.04

Find the difference.
3.52 -1.426=2.094

Find the difference.
35.2-4.42 =30.78

Find the difference.
345.3 - 5.42=339.88

Solve the following.

7.36
X .5
3.68

Solve the following.

23.5
X 4.9

115.15

Solve the following.

86.4
X .58
50.112

Solve the following.

537
x 0.98
.52626

Susie has $15.66 to spend on

lunch for herself and her friend.

If she spends an equal amount
on each person. How much
will Susie spend on each of
them?

$7.83

Joe bought 5.8 pounds of
grapes to have as a snack with
his 10 friends. If he shares his
grapes evenly, how many
pounds of grapes will each of
his friends get?

.58 Ibs

Monday through Friday Ms.
Carter ran a total of 25.5 miles.
If she ran the same number of
miles all 5 days, how many
miles did she run in one day?
5.1 miles

Every weekend Ms. Sunshine
bakes 195 cookies for her
class. If she has 25 students in
her class, how many cookies
will each student receive?

7.8 cookies

Susie wants to take her friend
out for lunch. She wants to
spend $9.75 per person. How
much will she spend in all?

$19.50

Joe needs to buy snacks for
the chess club. There are 12
people in the club and he
wants each person to receive
.5 pounds of grapes. How
many pounds of grapes should
he buy? 6 lbs

Ms. Carter runs 7.3 miles a day
for 14 days. How many miles
did she run in all?

102.2 miles

Ms. Sunshine is going to bake
cookies for her students. She
wants each student to receive
2.5 cookies. If she has 25
students in her class, how
many cookies does she need
to bake? 62.5

Mrs. Rivera ran 2.3 miles and
Ms. Carter ran 5.3 miles. How
many miles did they run total?

Ms. Sunshine had $10.00. She
purchased milk for $2.35 and
apples for $1.95. How much

Emily has $1.24. Joey has
$5.36. Maria has $2.42. Do
they have enough money to

Jose walked 5.3 miles to
school. After school, he
walked 4.52 miles to the

76 miles money does she have left? purchase a CD for $9.00? library. Finally, he walked 2.89
’ $5.70 miles home. How far did he
Yes (39.02) walk in all?  12.71 miles
What problem is being What problem is being Model 0.1 x 0.8 = Model 0.6 x 0.3 =

modeled? 0.3 x 0.7 = 0.21

modeled? 0.4 x 0.3 =0.12

What problem is being
modeled? 0.8 -+ 0.2 =4

What problem is being
modeled? 0.6 + 0.3 =2

Model the following
problem. 1.2 +0.3=

Model the following
problem. 1.5+ 0.3=

Yy
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